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distanced("") => True
distanced("0") => True
distanced("00") => False
distanced("0122345") => False
distanced("0123456") => True
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>>> from datetime import date

>>> today = date.today()

>>> today.year

2021

>>> today.month

4

>>> today.day

23
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how_o01d(2021,4,24) => -1
how_01d(2021,4,23) => 0
how_01d(2002,4,22) => 19
how_01d(2002,4,23) => 19
how_01d(2002,4,24) => 18
how_01d(2002,3,22) => 19
how_01d(2002,3,24) => 19
how_01d(2002,5,22) => 18
how_01d(2002,5,24) => 18
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sigma_even(0) => 0
sigma_even(1) => 2
sigma_even(2) => 6
sigma_even(3) => 12
sigma_even(4) => 20
sigma_even(5) => 30
sigma_even(6) => 42
sigma_even(7) => 56
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difference([],[]) => []
difference([1,2],[1) = [1, 2]
difference([],[3,4]) = []
difference([1,2],[3,4]) => [1, 2]
difference([1,2],[2,3]) => [1]
difference([1,2],[2,1]) => []
difference([1,2,31,03.2.11) = [1
difference([1,2,3],[3,2,4]) = [1]
difference([1,2,3],[4,5,6]) => [1, 2, 3]
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